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\R@8 Quiz 3: NEEHITHIN MAI1305

1.

(5 AzUN) 9 FaNATA (Congruent) THANIMMENMMIEIB99 AN 25672024

WHIAIABL
2567 = 7 (mod 10)
25672 = 7°= -1 (mod 10)
(2567%)1012 = (—1)1012 (mod 10)
2567202 = 1 (mod 10)

Aot NNz I 256720% An 1 #

v = A a 3
(5 AZLLUR) ’VQV’IT%"V]QE{]U‘V]L?TEW%@@?I@Q@M (CRT) NMAIRBUIBNFNNTT

66x = 1 (mod 91)

WRIATABY 1HB99N 91 = 7 - 13 uay ged(7, 13) = 1 Awaunes o AOARRBITZULANN199D (1]

66x = 1 (mod7)
66x = 1 (mod 13)
Wa150d1 662 = 1 (mod 7) 9zl
3z = 1 (mod?7)
152 = 5 (mod7)
r = 5 (mod7)

We19041 662 = 1 (mod 13) 9z (#ian
r = 1 (mod13)

FetnAneaLasTsuLaNn1Gae (Wi leely CRT

x = 5 (mod7)
=1

x (mod 13)
WITEUN
13z =1 (mod7) — x; = -1
v = 1 (mod13) — zy = 2

¥

az{fan zg = 5(13)(=1) + 1(7)(2) = —51 fesiummauansannig 66z = 1 (mod 91) An

—51 (mod 91)
40 (mod 91)



